
S-N Curves (Stress - Number of Cycles)

N to failure increases with decreasing load.

curve takes the form:
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N = number of cycles to failure
S = Stres range
A and m are constants 

(for steel, m ranges 3 - 5)
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≔i ‥0 last ((S))
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Miner's Rule states:

Failure will occure when:

＝＝++――
n

1

N
1

――
n

2

N
2

――
n

3

N
3

∑―
n
i

N
i

1

Where:
ni =number of cycles of stresses in a band si
Ni = number of cycles to failure for stress si
Proportion of life used of damage caused by ni cycles of si =
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In the supporting literature it claims that the units for m is MPa and units for C are m/cycle. 
However, some googling claims m is unitless and C is m/cycle MPa m^0.5. Any thoughts 
on this and links to reference material? 

Additionally, the material I have does not talk about units for dK but again the internet tells 
me this in in MPa m^o.5
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m I would expect the crack 
growth da to be in m/yr?
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